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1. Solve the initial value problem. (3t &8 » 35 # 53t LB > miBi2 LR
)
x*y" —xy'+y=0, y(1) = 1.5y (1) = 0.25
(15%)
2. Find the power series solution in powers of x. (3t £ 28 » 3 3£5) WEB
2o BBREERHS)
y'—4xy' + (4x* -2)y=0

(10%)
3. Find f(t) if
(1+e727(+1)) (541) )
L() = GiDD (L: Laplace transform)
GGHER > FH73H H 88 fErERHY) (15%)
4. Findy(t). (GrER - #5582 88T HH)
t
y(t) — f y(t)sin 2(t — 1) dt = sin 2t
0
(15%)

5. Find an eigenbasis (a basis of eigenvectors) and diagonalize. (3 & 58 >
FHI R BBRELRTY)

-1 -1 0
-1 -1 0

0 0 2
' (15%)
6. Find the Fourier series. (3t H88 » #3731 B8 > BBEHEFLHH)
(0, ~05<x<0
f&}‘&, 0<x<05
(15%)

7. Solve the following equation. (3t B 28 > #F# 731 Lz » SBEFRH)

;2—ﬂm5§+1m%—+2&vw@0) 0if x>0, w,(x,0) =0 if t >0,

w(0,t) = sint ift= 0. (15%)




